
–1–

HL-9006-3

OPERATING MANUAL

Thank you for purchasing an Oriental Motor product.
This Operating Manual describes product handling procedures 
and safety precautions.
•• Please read it thoroughly to ensure safe operation.
•• Always keep the manual where it is readily available.

Photomicrosensor set
PARP-PS2B 
PARP-PS4B

Introduction
Only qualified and educated personnel should work with the product.
The product described in this manual has been designed and manufactured to be incorporated in general industrial equipment.
Do not use for any other purpose.
Oriental Motor Co., Ltd. is not responsible for any damage caused through failure to observe this warning.

The items under Note contain important handling instructions that the user should observe to ensure safe use of the product.
Note is described in the related handling items.

•• The products do not contain the substances exceeding the restriction values of RoHS Directive (2011/65/EU).

�� Overview of the product
•• The photomicrosensor set is an accessory product for setting a desired rack stroke or detecting the rack position. 
Read the operating manual of the applicable product as well before use.

Applicable product Photomicrosensor set model
Applicable product model

LS linear head L series LBE series LAS series
PARP-PS2B 2LS LM2 LBE2 LAS2

PARP-PS4B 4LS LM4 LBE4 LAS4

Note Use the photomicrosensor set according to the combination described as above.

•• A photomicrosensor can be installed on both the right side 
and left side of the rack, so a total of two positions can be 
detected. 
One sensor can be used to detect an intermediate stop 
position, while the other sensor can be used to detect the 
home position or end limit.

For detecting an intermediate 
stop position

For detecting the home 
position or end limit

•• The supplied shielding plates can be used to set up to four stop positions. 
When combined with one or more accessory shielding plates (sold separately), five or more stop positions can be set.

Checking the product
Verify that the items listed below are included.
Report any missing or damaged items to the branch or sales office from which you purchased the product.

□	Photomicrosensor	 [3 m (9.8 ft.)]
			   2 pieces 
	 EE-SX951-R (OMRON Corporation)

Sensor

Cable
Ø2.8 mm  4 cores
Conductor cross-sectional area:
0.15 mm2

Insulator diameter: Ø0.92 mm

Lead wire 

□	Sensor bracket
		  1 piece

□	Shielding plate
		  4 pieces

□	Operating Manual
	 (this document) 
		  1 copy

□	Photomicrosensor 
mounting screw
M3×4 pieces



–2–

Installing the photomicrosensor
Note •• Do not install the photomicrosensor while the power is supplied. Doing so may damage the sensor.

•• When installing the sensor bracket or shielding plate, be sure to use the supplied screws.
•• Be sure to tighten with the specified torque. Failure to do so may result in damaged parts or malfunction.

1.	 Secure the sensor bracket to the rack case using the sensor bracket mounting screws (M4) attached on the rack 
case of the applicable product in advance.
Tightening torque: 0.9 N·m (127 oz-in)

2.	 Secure the photomicrosensor to the sensor bracket using the photomicrosensor mounting screws (M3).
Tightening torque: 0.54 N·m (76 oz-in) or less

Sensor bracket 
mounting screw (M4)

Sensor bracket

Photomicrosensor

Rack case

Photomicrosensor mounting screw (M3)

Insert by causing the tabs to 
engage with the grooves.

3.	 Connect the lead wires of the photomicrosensor to the programmable controller, etc.

+ (Brown)

OUT1 (Black)
Load 1

Main
circuit

Indicator
lamp

OUT2 (White)

5 to 24 VDC- (Blue)

Load 2

Use a power supply for a voltage of 5 VDC to 24 VDC. Also, the current should be 50 mA or less.
If the current exceeds 50 mA, connect an external resistor R0.

User controller

DC power input

HOMELS

GND

0 V

Photomicrosensor
(NPN)HOMELS input

Sensor power supply
+5 to +24 V

+5 to +24 V

R0

Brown

Blue

Black or white∗

∗∗ Connect the white lead wire when detecting the sensor output signal in normally open, and the black lead wire when detecting in normally closed.

Note •• Wire the cable of photomicrosensor so as not to contact the moving part.
•• Use a common ground for the sensor power supply and user controller power supply. If the two power 
supplies generate a ground potential difference, the sensor may malfunction.
•• Be sure to insulate the lead wires not in use.
•• Do not wire the polarity of the power supply incorrectly. Doing so may cause an explosion or damage.



–3–

4.	 Turn on the power.

5.	 Insert each shielding plate through the shielding plate mounting groove.

6.	 Check the detection light from the detection LED check window in the sensor bracket, and adjust the position of the 
shielding plate until the detection light is shielded.

7.	 Secure the shielding plate using the supplied hexagonal socket head screws (M3).
Tightening torque: 0.2 to 0.32 N·m (28 to 45 oz-in)

Shielding plate mounting groove in the rack

Hexagonal socket head screw (M3)

Lit

Unlit

Shielding plate

Detection LED 
check window

Detection LED
check window

Note •• The photomicrosensor is designed and manufactured to be incorporated in equipment. It accordingly has been 
given no special treatment to withstand ambient disturbance light, so provide a measure to avoid ambient 
disturbance light when using under an incandescent lamp or in any other location where the sensor may be 
affected by ambient disturbance light.
•• Before using the photomicrosensor, check the mounting points does not come loose as a result of vibration or 
impact.
•• Wire the sensor line separately from the motor cable, power supply cable and other drive cables. Also wire the 
sensor line away from the drive cables as much as possible.
•• The sensor may malfunction due to deposits of dust on the sensor. Clean the sensor periodically.

�� What to do when the shielding plate is too short
If the shielding plate slips right through the sensor receiving part after 
the sensor detection signal is output until the rack stops, place two 
shielding plates side by side so that it will take a longer time for both 
sensors to pass through the sensor receiving part.

Accessory
Shielding plate
Use a desired number of accessory shielding plates if the supplied shielding plates are not enough or when you want to set five or 
more stop positions.

Model: LXSP-4



•• Unauthorized reproduction or copying of all or part of this manual is prohibited. 
If a new copy is required to replace an original manual that has been damaged or lost, please contact your nearest Oriental Motor 
branch or sales office.
•• Oriental Motor shall not be liable whatsoever for any problems relating to industrial property rights arising from use of any 
information, circuit, equipment or device provided or referenced in this manual.
•• Characteristics, specifications and dimensions are subject to change without notice.
•• While we make every effort to offer accurate information in the manual, we welcome your input. Should you find unclear 
descriptions, errors or omissions, please contact the nearest office.
••  is a registered trademark or trademark of Oriental Motor Co., Ltd., in Japan and other countries.
Other product names and company names mentioned in this manual may be registered trademarks or trademarks of their respective 
companies and are hereby acknowledged. The third-party products mentioned in this manual are recommended products, and 
references to their names shall not be construed as any form of performance guarantee. Oriental Motor is not liable whatsoever for 
the performance of these third-party products.

© Copyright ORIENTAL MOTOR CO., LTD. 2017

Published in September 2018

• Please contact your nearest Oriental Motor o�ce for further information.

Technical Support  Tel:(800)468-3982
8:30 A.M. to 5:00 P.M., P.S.T. (M-F)
7:30 A.M. to 5:00 P.M., C.S.T. (M-F)
www.orientalmotor.com

Schiessstraße 44, 40549 Düsseldorf, Germany
Technical Support  Tel:00 800/22 55 66 22
www.orientalmotor.de

Tel:01256-347090
www.oriental-motor.co.uk

Tel:01 47 86 97 50
www.orientalmotor.fr

Tel:02-93906346
www.orientalmotor.it

Tel:0800-060708
www.orientalmotor.com.tw

Singapore
Tel:1800-8420280
www.orientalmotor.com.sg

Tel:1800-806161
www.orientalmotor.com.my

Korea
Tel:080-777-2042
www.inaom.co.kr

4-8-1 Higashiueno, Taito-ku, Tokyo 
110-8536 Japan
Tel:03-6744-0361
www.orientalmotor.co.jp

Tel:1800-888-881
www.orientalmotor.co.th

Tel:400-820-6516
www.orientalmotor.com.cn

Tel:+55-11-3266-6018
www.orientalmotor.com.br

Tel:+91-80-41125586
www.orientalmotor.co.in

Hong Kong Branch
Tel:+852-2427-9800




